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Honor code reaffirmation:




· Open book and open notes. You have 2 hours and 15 minutes from the time you pick up this exam to the time you turn in, under my office door, your completed exam.

· Turn in, under my office door, no later than 4:30 PM on Thursday.
· There is a 5 point per minute late penalty; exams returned after the 4:30 PM Thurday deadline will receive a score of zero.
· Write clearly; if I can’t read it, you might as well not have written it.

· True/false. (Put a T or an F, but not both, in the blank immediately to the left of the numeral that numbers the sentence.)

(“Problems” abbreviates “The Problems of Philosophy,” LA abbreviates “Logical Atomism,” and “Tractatus” abbreviates “Tractatus Logico Philosophicus.”)
____1. Russell’s Paradox is a paradox derived from the axioms of Cantor Set Theory.

____2. In Problems, Russell seeks something that is so certain that no reasonable person could doubt it.

____3. According to Problems, there are at least two “spaces”: private visual space and public space.

____4. In Problems, Russell maintains that the truth about matter will be strange.

____5. In Problems, Russell asserts that the belief there is matter is a simpler hypothesis than the belief that there is no matter.

____6. According to Problems, it is false that one cannot know about that which one cannot know.

____7. In Problems, Russell argues that knowledge of things we are not acquainted with is based on knowledge of things we are acquainted with together with some general principles.

____8. Russell argues, in Problems, that we do not need to assume that there are universals because claims about two objects having the same color--white, for example--can be understood in terms of their being similar in color.
____9. According to Problems, to give a theory of truth is to say what is and what is not true.

____10. In Problems, Russell holds a multiple relation theory of belief.

____11. In Problems, Russell holds that a belief is true only if it corresponds to a fact.

____12. Russell holds that the same theory of truth in both Problems and LA.

____13. In LA, Russell holds that there are complexes.

____14. In LA, Russell holds that ordinary names are names for objects with which one is directly acquainted.

____15. According to LA, if x is a constituent of a fact, then x is a particular.
____16. In LA, Russell despairs of making a map of belief.

____17. Russell says, in LA, that it is deplorable that we don’t use a logically perfect language.

____18. According to Russell’s Theory of Types, where F is a property, well-formed sentences cannot attribute F to F.

____19. According to Wittgenstein, much of the Tractatus is nonsense.

____20. According to Wittgenstein, there are no general facts.
